

Bounded Sum and Bounded Product of Fuzzy Matrices

I.Silambarasan¹ and S.Sriram²

¹Department of Mathematics, Annamalai University
Annamalainagar, 608 002, Tamil nadu, India. Email: sksimbuling@gmail.com

²Mathematics Wing, Directorate of Distance Education
Annamalai University, Annamalainagar, 608 002, Tamilnadu, India

¹Corresponding author. Email: ssm_3096@yahoo.co.in

Received 2 October 2017; accepted 25 October 2017

Abstract. Fuzzy matrices have been proposed to represent fuzzy relations in finite universes. Different algebraic operations are involved in the study of fuzzy matrices. In this paper, we defined bounded difference of fuzzy matrices and by using bounded sum and bounded product. we proved some new inequalities connected with fuzzy matrices. Also, some results on existing operators along with these are presented.

Keywords: Fuzzy matrix, bounded sum, bounded product, bounded difference

AMS Mathematics Subject Classification(2010): 03E73, 04A72

1. Introduction

The fuzzy matrices are successfully used when fuzzy uncertainty occurs in a problem. In 1977, Thomason [27] initiated the study on convergence of powers of fuzzy matrix. Kim and Roush [4] gave a systematic development to fuzzy matrix theory. Among the basic operations which can be performed on fuzzy matrix are \vee, \wedge , complement, algebraic sum, algebraic product, bounded sum, bounded product, max-min composition and so on. Ragab and Emam [17] studied some properties of the min-max composition of fuzzy matrices. Shyamal and Pal [19,20] introduced two binary fuzzy operators \oplus and \odot for fuzzy matrices and proved several properties on \oplus and \odot . Also they extended these binary operators for Intuitionistic fuzzy matrix. Sriram and Boobalan [25] studied the algebraic properties of these binary operators and proved some results on existing operators along with these operators. Bounded sum and bounded product of fuzzy matrices are introduced by Zhang and Zheng [28] and presented several properties on these operations.

In this paper, we defined bounded difference of fuzzy matrices and by using bounded sum, bounded product. we proved some new inequalities connected with fuzzy matrices. Also, some results on existing operators along with these are presented.

The paper is organized in three sections. In section 2, the definitions and operations on fuzzy matrices are given. In section 3, results regarding of fuzzy matrices are proved

using the operations in the preceding section. In section 4, some results on bounded difference of fuzzy matrices.

2. Preliminaries

In this section, we define some operators on fuzzy matrices whose elements are in the closed interval $F = [0,1]$. For all $x, y \in F$ the following operators are defined.

$$(i) x \vee y = \max(x, y),$$

$$(ii) x \wedge y = \min(x, y),$$

$$(iii) x^c = 1 - x,$$

$$(iv) x \oplus y = (x + y) \wedge 1,$$

$$(v) x \odot y = (x + y - 1) \vee 0.$$

The matrix I_n is the $n \times n$ Identity matrix and the matrix J is the matrix whose elements are all $\mathbf{1}$.

Next, we define some operations on fuzzy matrices. Let $A = (a_{ij})$ and $B = (b_{ij})$ be two fuzzy matrices of order $m \times n$.

$$\text{Then } (i) A \vee B = (a_{ij} \vee b_{ij}),$$

$$(ii) A \wedge B = (a_{ij} \wedge b_{ij}).$$

The Bounded sum of A and B is defined by $A \oplus B = ((a_{ij} + b_{ij}) \wedge 1)$.

The Bounded product of A and B is defined by $A \odot B = ((a_{ij} + b_{ij} - 1) \vee 0)$.

The complement of the fuzzy matrix A is given by $A^c = [1 - a_{ij}]$.

$A \leq B$ if and only if $a_{ij} \leq b_{ij}$ for all i, j .

Theorem 2.1. [12] (i) If a, b, c are real numbers with $a \geq 0$ then the following holds:

$$a \cdot \max(b, c) = \max(ab, ac),$$

$$a \cdot \min(b, c) = \min(ab, ac).$$

(ii) For real numbers a, b, c with $a \geq 0$ then addition distributes over the maximum operation and also over the minimum operation:

$$a + \max(b, c) = \max(a + b, a + c),$$

$$a + \min(b, c) = \min(a + b, a + c).$$

(iii) For real numbers, the maximum operation is distributive over the minimum operation and vice versa:

$$\max(a, \min(b, c)) = \min(\max(a, b), \max(a, c)),$$

$$\min(a, \max(b, c)) = \max(\min(a, b), \min(a, c)).$$

Lemma 2.2. [12] Let x, y and z be real numbers. Then the following equalities hold:

Bounded Sum and Bounded Product of Fuzzy Matrices

- (i) $x - \min(y, z) = \max(x - y, x - z)$,
- (ii) $x - \max(y, z) = \min(x - y, x - z)$,
- (iii) $\min(x, y) - z = \min(x - z, y - z)$,
- (iv) $\max(x, y) - z = \max(x - z, y - z)$.

3. Some results on operators of fuzzy matrix

In [28], Zhang and Zheng introduced \oplus and \odot of fuzzy matrices. In this section, we proved some new inequalities connected with fuzzy matrices and it's algebraic properties.

Theorem 3.1. For any fuzzy matrices A and B of same size,

- (i) $A \oplus (A \odot B) \geq A$,
- (ii) $A \odot (A \oplus B) \leq A$.

Proof:

$$\begin{aligned} (i) \quad A \oplus (A \odot B) &= (a_{ij}) \oplus (\max(0, a_{ij} + b_{ij} - 1)), \\ &= (\min(1, a_{ij} + \max(0, a_{ij} + b_{ij} - 1))), \\ &= (\min(1, \max(a_{ij}, 2a_{ij} + b_{ij} - 1))) \text{ (by Theorem 2.1)} \end{aligned}$$

Case 1. Suppose $(\min(1, \max(a_{ij}, 2a_{ij} + b_{ij} - 1)) = 1$

Then $A \oplus (A \odot B) = J \geq A$ for all i, j .

Therefore $A \oplus (A \odot B) \geq A$.

Case 2. Suppose $(\min(1, \max(a_{ij}, 2a_{ij} + b_{ij} - 1)) = \max(a_{ij}, 2a_{ij} + b_{ij} - 1)$

Subcase 2.1. Suppose $\max(a_{ij}, 2a_{ij} + b_{ij} - 1) = (a_{ij}) \geq (a_{ij})$ for all i, j

Therefore $A \oplus (A \odot B) \geq A$

Subcase 2.2. Suppose $\max(a_{ij}, 2a_{ij} + b_{ij} - 1) = (2a_{ij} + b_{ij} - 1) \geq (a_{ij})$

Therefore $A \oplus (A \odot B) \geq A$.

$$\begin{aligned} (ii) \quad A \odot (A \oplus B) &= (a_{ij}) \odot (\min(1, a_{ij} + b_{ij})), \\ &= (\max(0, a_{ij} + \min(1, a_{ij} + b_{ij}) - 1)) \\ &= (\max(0, \min(a_{ij}, 2a_{ij} + b_{ij} - 1))) \text{ (by Theorem 2.1)} \end{aligned}$$

Case 1. Suppose $(\max(0, \min(a_{ij}, 2a_{ij} + b_{ij} - 1)) = 0$

Then $A \odot (A \oplus B) = O \leq A$ for all i, j .

Case 2. Suppose $(\max(0, \min(a_{ij}, 2a_{ij} + b_{ij} - 1)) = \min(a_{ij}, 2a_{ij} + b_{ij} - 1)$

Subcase 2.1. Suppose $\min(a_{ij}, 2a_{ij} + b_{ij} - 1) = (a_{ij}) \leq (a_{ij})$ for all i, j .

Therefore $A \odot (A \oplus B) \leq A$.

Subcase 2.2. Suppose $\min(a_{ij}, 2a_{ij} + b_{ij} - 1) = (2a_{ij} + b_{ij} - 1) \leq (a_{ij})$

Therefore, $A \odot (A \oplus B) \leq A$.

Theorem 3.2. For any fuzzy matrices A and B of same size,

(i) $A \oplus (A \vee B) \geq A$,

(ii) $A \oplus (A \wedge B) \geq A$.

Proof:

(i) $A \oplus (A \vee B) = (a_{ij}) \oplus (\max(a_{ij}, b_{ij})),$
 $= (\min(1, a_{ij} + \max(a_{ij}, b_{ij})))$ (by Theorem2.1)
 $= (\min(1, \max(2a_{ij}, a_{ij} + b_{ij}))),$

Case 1. Suppose $(\min(1, \max(2a_{ij}, a_{ij} + b_{ij}))) = 1$

Then $A \oplus (A \vee B) = J \geq A$

Case 2. Suppose $(\min(1, \max(2a_{ij}, a_{ij} + b_{ij}))) = \max(2a_{ij}, a_{ij} + b_{ij})$

Subcase 2.1. Suppose $\max(2a_{ij}, a_{ij} + b_{ij}) = (2a_{ij}) \geq (a_{ij})$ for all i, j .

Therefore $A \oplus (A \vee B) \geq A$.

Subcase 2.2. Suppose $(\max(2a_{ij}, a_{ij} + b_{ij})) = (a_{ij} + b_{ij}) \geq (a_{ij})$

Therefore $A \oplus (A \vee B) \geq A$.

(ii) $A \oplus (A \wedge B) = (a_{ij}) \oplus (\min(a_{ij}, b_{ij})),$
 $= (\min(1, a_{ij} + \min(a_{ij}, b_{ij})))$ (by Theorem2.1)
 $= (\min(1, \min(2a_{ij}, a_{ij} + b_{ij}))),$

Case 1. Suppose $(\min(1, \min(2a_{ij}, a_{ij} + b_{ij}))) = 1$

Then $A \oplus (A \vee B) = J \geq A$

Case 2. Suppose $(\min(1, \min(2a_{ij}, a_{ij} + b_{ij}))) = \min(2a_{ij}, a_{ij} + b_{ij})$

Subcase 2.1. Suppose $\min(2a_{ij}, a_{ij} + b_{ij}) = (2a_{ij}) \geq (a_{ij})$ for all i, j .

Therefore $A \oplus (A \vee B) \geq A$.

Subcase 2.2. Suppose $(\min(2a_{ij}, a_{ij} + b_{ij})) = (a_{ij} + b_{ij}) \geq (a_{ij})$

Therefore, $A \oplus (A \vee B) \geq A$.

Theorem 3.3. For any fuzzy matrices A and B of same size,

(i) $A \odot (A \vee B) \leq A$,

(ii) $A \odot (A \wedge B) \leq A$.

Proof:

(i) $A \odot (A \vee B) = (a_{ij}) \odot (\max(a_{ij}, b_{ij})),$
 $= (\max(0, a_{ij} + \max(a_{ij}, b_{ij}) - 1)),$

Bounded Sum and Bounded Product of Fuzzy Matrices

$$\begin{aligned} &= (\max(0, a_{ij} + \max(a_{ij} - 1, b_{ij} - 1))) \text{ (by Lemma 2.2)} \\ &= (\max(0, \max(2a_{ij} - 1, a_{ij} + b_{ij} - 1))) \text{ (by Theorem 2.1)} \end{aligned}$$

Case 1. Suppose $\max(0, \max(2a_{ij} - 1, a_{ij} + b_{ij} - 1)) = 0$,

Then $A \odot (A \vee B) = O \leq A$.

Case 2. Suppose $\max(0, \max(2a_{ij} - 1, a_{ij} + b_{ij} - 1)) = (\max(2a_{ij} - 1, a_{ij} + b_{ij} - 1))$

Subcase 2.1. Suppose $\max(2a_{ij} - 1, a_{ij} + b_{ij} - 1) = (2a_{ij} - 1) \leq (a_{ij})$ for all i, j .

Therefore $A \odot (A \vee B) \leq A$.

Subcase 2.2. Suppose $\max(2a_{ij} - 1, a_{ij} + b_{ij} - 1) = (a_{ij} + b_{ij} - 1) \leq (a_{ij})$,

Therefore $A \odot (A \vee B) \leq A$.

$$\begin{aligned} \text{(ii)} \quad A \odot (A \wedge B) &= (a_{ij}) \odot (\min(a_{ij}, b_{ij})), \\ &= (\max(0, a_{ij} + \min(a_{ij}, b_{ij}) - 1)), \\ &= (\max(0, \min(2a_{ij} - 1, a_{ij} + b_{ij} - 1))) \text{ (by Theorem 2.1)} \end{aligned}$$

Case 1. Suppose $\max(0, \min(2a_{ij} - 1, a_{ij} + b_{ij} - 1)) = 0$,

Then $A \odot (A \wedge B) = O \leq A$.

Case 2. Suppose $\max(0, \min(2a_{ij} - 1, a_{ij} + b_{ij} - 1)) = (\max(2a_{ij} - 1, a_{ij} + b_{ij} - 1))$

Subcase 2.1. Suppose $\max(2a_{ij} - 1, a_{ij} + b_{ij} - 1) = (2a_{ij} - 1) \leq (a_{ij})$ for all i, j .

Therefore $A \odot (A \wedge B) \leq A$.

Subcase 2.2. Suppose $\min(2a_{ij} - 1, a_{ij} + b_{ij} - 1) = (a_{ij} + b_{ij} - 1) \leq (a_{ij})$,

Therefore $A \odot (A \wedge B) \leq A$.

Theorem 3.4. For any fuzzy matrices A and B of same size,

$$\text{(i)} \quad A \vee (A \oplus B) = A \oplus B,$$

$$\text{(ii)} \quad A \wedge (A \oplus B) = A.$$

Proof:

$$\begin{aligned} \text{(i)} \quad A \vee (A \oplus B) &= (\max(a_{ij}, \min(1, a_{ij} + b_{ij}))), \\ &= (\min(\max(a_{ij}, 1), \max(a_{ij}, a_{ij} + b_{ij}))) \text{ (by Theorem 2.1)} \\ &= (\min(1, a_{ij} + b_{ij})), \\ &= A \oplus B. \end{aligned}$$

$$\begin{aligned} \text{(ii)} \quad A \wedge (A \oplus B) &= (\min(a_{ij}, \min(1, a_{ij} + b_{ij}))), \\ &= (\min(\min(a_{ij}, 1), (a_{ij} + b_{ij}))) \text{ (by Theorem 2.1)} \\ &= (\min(a_{ij}, a_{ij} + b_{ij})), \\ &= A. \end{aligned}$$

Theorem 3.5. For any fuzzy matrices A and B of same size,

(i) $A \vee (A \odot B) = A,$

(ii) $A \wedge (A \odot B) = A \odot B.$

Proof:

$$\begin{aligned} (i) \quad A \vee (A \odot B) &= (\max(a_{ij}, \max(0, a_{ij} + b_{ij} - 1))), \\ &= (\max(\max(a_{ij}, 0), a_{ij} + b_{ij} - 1)), \\ &= (\max(a_{ij}, a_{ij} + b_{ij} - 1)), \\ &= (a_{ij}), \\ &= A. \end{aligned}$$

$$\begin{aligned} (ii) \quad A \wedge (A \odot B) &= (\min(a_{ij}, \max(0, a_{ij} + b_{ij} - 1))), \\ &= (\max(\min(a_{ij}, 0), \min(a_{ij}, a_{ij} + b_{ij} - 1))), \\ &= (\max(0, a_{ij} + b_{ij} - 1)), \\ &= A \odot B. \end{aligned}$$

The \vee and \wedge operators are not distributive laws over the \oplus are proved by the following theorems.

Theorem 3.6. For any fuzzy matrices A, B and C of same size,

$$A \vee (B \oplus C) \leq (A \vee B) \oplus (A \vee C),$$

Proof: $A \vee (B \oplus C) = (\max(a_{ij}, \min(1, b_{ij} + c_{ij}))),$

$$(A \vee B) \oplus (A \vee C) = (\min(1, \max(a_{ij}, b_{ij}) + \max(a_{ij}, c_{ij}))),$$

$$(A \vee (B \oplus C)) = \begin{cases} (a_{ij}), & \text{if } (\min(1, b_{ij} + c_{ij})), \\ (\min(1, (b_{ij} + c_{ij}))), & \text{if } (a_{ij}) \leq (\min(1, b_{ij} + c_{ij})), \end{cases}$$

$$(A \vee B) \oplus (A \vee C) = \begin{cases} J, & \text{if } 1 < (\max(a_{ij}, b_{ij}) + \max(a_{ij}, c_{ij})), \\ (\max(a_{ij}, b_{ij}) + \max(a_{ij}, c_{ij})), & \text{if } 1 \geq (\max(a_{ij}, b_{ij}) + \max(a_{ij}, c_{ij})), \end{cases}$$

Case (a) $A \vee (B \oplus C) = (a_{ij}),$

Suppose $(A \vee B) \oplus (A \vee C) = J > A \vee (B \oplus C),$

Then $A \vee (B \oplus C) \leq (A \vee B) \oplus (A \vee C),$

Suppose $(A \vee B) \oplus (A \vee C) = (\min(1, \max(a_{ij}, b_{ij}) + \max(a_{ij}, c_{ij}))),$

Case 1. $a_{ij} \leq b_{ij}$ and $a_{ij} \leq c_{ij}$ for all $i, j,$

Therefore $(A \vee B) \oplus (A \vee C) = (b_{ij} + c_{ij}) > (a_{ij}),$

(ie) $A \vee (B \oplus C) \leq (A \vee B) \oplus (A \vee C).$

Bounded Sum and Bounded Product of Fuzzy Matrices

Case 2. $a_{ij} > b_{ij}$ and $a_{ij} < c_{ij}$ for all i, j ,

Therefore $(A \vee B) \oplus (A \vee C) = (a_{ij} + c_{ij}) > (a_{ij})$,

(ie) $A \vee (B \oplus C) \leq (A \vee B) \oplus (A \vee C)$.

Case 3. $a_{ij} \leq b_{ij}$ and $a_{ij} > c_{ij}$ for all i, j ,

Therefore $(A \vee B) \oplus (A \vee C) = (b_{ij} + a_{ij}) > (a_{ij})$,

(ie) $A \vee (B \oplus C) \leq (A \vee B) \oplus (A \vee C)$.

Case 4. $a_{ij} > b_{ij}$ and $a_{ij} > c_{ij}$,

Therefore $(A \vee B) \oplus (A \vee C) = (a_{ij} + b_{ij}) > (a_{ij})$,

(ie) $A \vee (B \oplus C) \leq (A \vee B) \oplus (A \vee C)$,

Hence $A \vee (B \oplus C) \leq (A \vee B) \oplus (A \vee C)$.

Case (b) $A \vee (B \oplus C) = (\min(1, b_{ij} + c_{ij}))$,

Suppose $(\min(1, b_{ij} + c_{ij})) = 1$,

If $(A \vee B) \oplus (A \vee C) = J \geq (\min(1, b_{ij} + c_{ij}))$ for all i, j ,

(ie) $A \vee (B \oplus C) \leq (A \vee B) \oplus (A \vee C)$,

If $(A \vee B) \oplus (A \vee C) = (\max(a_{ij}, b_{ij}) + \max(a_{ij}, c_{ij}))$.

Case 1. $a_{ij} \leq c_{ij}$ and $a_{ij} \leq b_{ij}$ for all i, j ,

$(A \vee B) \oplus (A \vee C) = (b_{ij} + c_{ij}) \geq (\min(1, b_{ij} + c_{ij}))$ for all i, j ,

(ie) $A \vee (B \oplus C) \leq (A \vee B) \oplus (A \vee C)$.

Case 2. $a_{ij} \leq c_{ij}$ and $a_{ij} \geq b_{ij}$ for all i, j ,

$(A \vee B) \oplus (A \vee C) = (a_{ij} + c_{ij}) \geq (b_{ij} + c_{ij}) \geq (\min(1, b_{ij} + c_{ij}))$,

Hence $A \vee (B \oplus C) \leq (A \vee B) \oplus (A \vee C)$.

Similarly, the following theorem 3.7, we can prove it.

Theorem 3.7. For any fuzzy matrices A, B and C of same size,

$$A \wedge (B \oplus C) \leq (A \wedge B) \oplus (A \wedge C)$$

In the following theorem we proved some identities on fuzzy matrices.

Theorem 3.8. For a fuzzy matrix A

Proof: Let $A = (a_{ij})$ be a fuzzy matrix.

- (i) $A \oplus O = A$.
- (ii) $A \oplus J = J$.
- (iii) $A \odot O = O$.
- (iv) $A \odot J = A$.

4. Results on bounded difference of fuzzy matrix

In the section, we defined bounded difference of fuzzy matrices and proved it's algebraic properties.

Definition 4.1. Let $A = (a_{ij})$ and $B = (b_{ij})$ be two fuzzy matrices of order $m \times n$, then the bounded-difference of A and B is defined by $A \ominus B = ((a_{ij} - b_{ij}) \vee 0)$.

Theorem 4.2. For any fuzzy matrices A and B of same size,

- (i) $A \oplus (B \ominus A) = A \vee B$,
- (ii) $A \oplus (A \ominus B) \geq A$,
- (iii) $A \ominus (A \ominus B) = A \wedge B$.

Proof:

$$\begin{aligned}
 (i) \quad A \oplus (B \ominus A) &= (a_{ij}) \oplus (\max(0, b_{ij} - a_{ij})), \\
 &= (\min(1, a_{ij} + \max(0, b_{ij} - a_{ij}))), \\
 &= (\min(1, (\max(a_{ij}, a_{ij} + b_{ij} - a_{ij})))) \text{ (by Theorem 2.1)} \\
 &= (\min(1, \max(a_{ij}, b_{ij}))), \\
 &= (\max(\min(1, a_{ij}), \min(1, b_{ij}))) \text{ (by Theorem 2.1)} \\
 &= (\max(a_{ij}, b_{ij})), \\
 &= A \vee B.
 \end{aligned}$$

$$\begin{aligned}
 (ii) \quad A \oplus (A \ominus B) &= (a_{ij}) \oplus (\max(0, a_{ij} - b_{ij})), \\
 &= (\min(1, a_{ij} + (\max(0, a_{ij} - b_{ij})))), \\
 &= (\min(1, \max(a_{ij} + 0, a_{ij} + a_{ij} - b_{ij}))) \text{ (by Theorem 2.1)} \\
 &= (\min(1, \max(a_{ij}, 2a_{ij} - b_{ij}))),
 \end{aligned}$$

Case 1. Suppose $(\min(1, \max(a_{ij}, 2a_{ij} - b_{ij}))) = 1$ for all i, j ,

Then $A \oplus (A \ominus B) = J \geq A$.

Case 2. Suppose $(\min(1, \max(a_{ij}, 2a_{ij} - b_{ij}))) = \max(a_{ij}, 2a_{ij} - b_{ij}) = (a_{ij})$ for all i, j ,

Subcase 2.1. Suppose $\max(a_{ij}, 2a_{ij} - b_{ij}) = (a_{ij}) \geq (a_{ij})$ for all i, j ,

Therefore $A \oplus (A \ominus B) \geq A$.

Bounded Sum and Bounded Product of Fuzzy Matrices

Subcase 2.2. Suppose $\max(a_{ij}, 2a_{ij} - b_{ij}) = 2a_{ij} - b_{ij} \geq (a_{ij})$ for all i, j ,
Therefore $A \oplus (A \ominus B) \geq A$.

$$\begin{aligned}
 (iii) \quad A \ominus (A \ominus B) &= (a_{ij}) \ominus (\max(0, a_{ij} - b_{ij})), \\
 &= (\max(0, a_{ij} - \max(0, a_{ij} - b_{ij}))), \\
 &= (\max(0, (\min(a_{ij}, a_{ij} - (a_{ij} - b_{ij})))))(\text{by Theorem 2.1}) \\
 &= (\max(0, \min(a_{ij}, b_{ij}))), \\
 &= (\min(\max(0, a_{ij}), \max(0, b_{ij}))) (\text{by Theorem 2.1}) \\
 &= (\min(a_{ij}, b_{ij})), \\
 &= A \wedge B.
 \end{aligned}$$

Theorem 4.3. For any fuzzy matrices A and B of same size,

$$(i) A \vee (A \ominus B) = A,$$

$$(ii) A \wedge (A \ominus B) = A \ominus B$$

Proof:

$$\begin{aligned}
 (i) \quad A \vee (A \ominus B) &= (a_{ij}) \vee (\max(0, a_{ij} - b_{ij})), \\
 &= (\max(a_{ij}, \max(0, a_{ij} - b_{ij}))), \\
 &= (\max(\max(a_{ij}, 0), a_{ij} - b_{ij})), \\
 &= (\max(a_{ij}, a_{ij} - b_{ij})), \\
 &= (a_{ij}), \\
 &= A.
 \end{aligned}$$

$$\begin{aligned}
 (ii) \quad A \wedge (A \ominus B) &= (a_{ij}) \wedge (\min(0, a_{ij} - b_{ij})), \\
 &= (\min(a_{ij}, \max(0, a_{ij} - b_{ij}))), \\
 &= (\max(\min(a_{ij}, 0), \min(a_{ij}, a_{ij} - b_{ij}))), \\
 &= (\max(0, a_{ij} - b_{ij})), \\
 &= A \ominus B.
 \end{aligned}$$

In [28], Zhang and Zheng proved the De Morgan's laws for the operators \oplus and \odot . In the following theorem, we proved some of its further results.

Theorem 4.4. For any fuzzy matrices A and B of same size,

$$(i) (A \oplus B)^C = A^C \ominus B, (ii) (A \ominus B)^C = A^C \oplus B,$$

$$(iii) A^C \ominus B^C = B \ominus A, (iv) A \odot B^C = A \ominus B,$$

$$(v) A \ominus B^C = A \odot B$$

Proof: Let $A = (a_{ij})$ and $B = (b_{ij})$ be two fuzzy matrices of same order

$$(i) (A \oplus B)^C = (1 - \min(1, a_{ij} + b_{ij})),$$

$$= (\max(0, 1 - a_{ij} - b_{ij})) \quad (4.1) \text{ (by Lemma 2.2)}$$

$$A^C \ominus B = (1 - a_{ij}) \ominus (b_{ij}) = (\max(0, 1 - a_{ij} - b_{ij})) \quad (4.2)$$

From (4.1) and (4.2), (i) is true.

$$(ii) (A \ominus B)^C = (1 - \max(0, a_{ij} - b_{ij})) = (\min(1, 1 - (a_{ij} - b_{ij}))) \quad (4.3)$$

$$A^C \oplus B = (1 - a_{ij}) \oplus (b_{ij}) = (\min(1, 1 - a_{ij} + b_{ij})) \quad (4.4)$$

From (4.3) and (4.4), (ii) is true. The proofs of (iii), (iv) and (v) are obvious.

In the following theorem we proved some identities on fuzzy matrices,

Theorem 4.5. For a fuzzy matrix A

- (i) $A \ominus O = A$,
- (ii) $O \ominus A = O$,
- (iii) $A \ominus J = O$,
- (iv) $J \ominus A = A^C$.

5. Conclusions

In this article, bounded sum, bounded product and bounded difference of fuzzy matrices are defined and some properties are proved. Thus the bounded sum, bounded product and bounded difference of fuzzy matrices are very useful to further works.

Acknowledgements. The author would like to thank the referees for a number of constructive comments and valuable suggestions.

REFERENCES

1. A.K.Adak, M.Bhowmik and M.Pal, Intuitionistic fuzzy block matrix and its some properties, *Annals of Pure and Applied Mathematics*, 1(1) (2012) 13-31.
2. J.Boobalan and S.Sriram, New operations on intuitionistic fuzzy matrices, *International J. of Pure and Engg. Mathematics*, 3(1) (2015) 177-186.
3. S.K.Khan and M.Pal, Some operation on intuitionistic fuzzy matrices, *Acta Ciencia Indica*, XXXIIM, (2006) 515-524.
4. K.H.Kim and F.W.Roush, Generalized Fuzzy matrices, *Fuzzy Sets and Systems*, 4 (1980) 292-315.
5. A.R.Meenakshi and S.Sriram, On regularity of sums of Fuzzy Matrices, *Bulletin of Pure and Applied Sciences*, 22E(2) (2003) 395-403.
6. A.R.Meenakshi, *Fuzzy Matrix Theory and Applications*, MJP Publishers, Chennai, 2008.
7. A.R.Meenakshi and T.Gandhimathi, Intuitionistic fuzzy relational equations, *Advances in Fuzzy Mathematics*, 5(3) (2010) 239-244.

Bounded Sum and Bounded Product of Fuzzy Matrices

8. S.Mondal and M.Pal, Similarity relations, invertibility and eigenvalues of IFM, *Fuzzy Information and Engg*, 5(4) (2013) 431-443.
9. P.Murugadas, S.Sriram and T.Muthuraji, Modal operators in intuitionistic fuzzy matrices, *Int. J. Comp. Applns.*, 90(17) (2014) 1-4.
10. T.Muthuraji, S.Sriram and P.Murugadas, Decomposition of intuitionistic fuzzy matrices, *Fuzzy Information and Engineering*, 8 (2016) 345-354.
11. T.Muthuraji and S.Sriram, Reduction of an intuitionistic fuzzy matrix to fuzzy matrix with some algebraic properties, *Annals of Fuzzy Mathematics and Informatics*, 13(4) (2017) 475-483.
12. K.W.Oh and W.Bandler, Properties of fuzzy implication operators, *International Journal of Approximate Reasoning*, 1(3) (1987) 273-285.
13. M.Pal, Intuitionistic fuzzy determinant, *V.U.J. Physical Sciences*, 7 (2001) 87-93.
14. M.Pal, S.K.Khan and A.K.Shyamal, Intuitionistic fuzzy matrices, *Notes on Intuitionistic Fuzzy Sets*, 8(2) (2002) 51-62.
15. M.Pal, Fuzzy matrices with fuzzy rows and fuzzy columns, *Journal of Intelligent and Fuzzy Systems*, 30(1) (2015) 561-573.
16. R.Pradhan and M.Pal, Intuitionistic fuzzy linear transformations, *Annals of Pure and Applied Mathematics*, 1(1) (2012) 57-68.
17. M.G.Ragab and E.G.Emam, On the min-max composition of fuzzy matrices, *Fuzzy Sets and Systems*, 75 (1995) 83-92.
18. P.Rajarajeswari and P.Dhanalakshmi, Interval-valued fuzzy soft matrix theory, *Annals of Pure and Applied Mathematics*, 7(2) (2014) 61-72.
19. A.K.Shyamal and M.Pal, Distances between intuitionistic fuzzy matrices, Vidyasagar University *J.Physical Sciences*, 8 (2002) 81-91.
20. A.K.Shyamal and M.Pal, Two new operators on fuzzy matrices, *J. Appl. Math. Computing*, 15 (1-2) (2004) 91-107.
21. S.Sriram and P.Murugadas, Rank and regularity of intuitionistic fuzzy matrices, *Advances in Fuzzy Mathematics*, 5(3) (2010) 335-347.
22. S.Sriram and P.Murugadas, On semiring of intuitionistic fuzzy matrices, *Applied Mathematical Sciences*, 4(21-24) (2010) 1099-1105.
23. S.Sriram and P.Murugadas, Preorder and semi inverse of intuitionistic fuzzy matrices, *Advances in Algebra*, 3(1) (2010) 133-141.
24. S.Sriram and P.Murugadas, Sub inverses of intuitionistic fuzzy matrices, *Acta Ciencia Indica*, XXXVII M (1) (2011) 41-56.
25. S.Sriram and J.Boobalan, Arithmetic operations on Intuitionistic fuzzy matrices, Proceedings of *International Conference on Mathematical Sciences-2014*, Organized by Sathyabama university, Chennai, pp.484-487.
26. S.Sriram and J.Boobalan, Monoids of intuitionistic fuzzy matrices, *Annals of Fuzzy Mathematics and Informatics*, 2 (3) (2016) 505-510.
27. M.G.Thomason, Convergence of powers of fuzzy matrix, *J. Mathematical Analysis and Applications*, 57 (1977) 476-480.
28. Y.Zhang and M. Zheng, New operators on fuzzy matrices, *Proceedings of Fourth International Workshop on Advanced Computational Intelligence IEEE* (2011) Wuhan, 295-299.